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I. Solve the following word problems. [6 x 3 = 18]

1. 354 students of a school are to be taken for a picnic. If the school has hired six buses,
how many children should go in each bus ?

2. Harish earned � 9,000 in January. He spent � 7,359 on household expenses. How much
money did he save in January ?

3. There are 24 rabbits in a garden. Each rabbit eats 15 carrots in a day. How many carrots
will all the rabbits eat in a day ?

4. Seema has � 1512 in her money box. She spent � 579 on buying a gift for her mother.
How much money is left in her money box ?

5. In a basket there are 4000 flowers altogether. If there are 2125 red flowers and 525
yellow flowers, how many white flowers are there in the basket.

6. For a project, each child is required to plant 12 trees. There are 38 students in a class.

How many trees will the students plant altogether ?

II. Compare the numbers. Write < , > or =. [6 x 1 = 6]

1. 4700  ––––– 4700 4. 1976 –––––– 2976

2. 3241 ––––– 3251 5. 7321 –––––– 7312

3. 7321 ––––– 4937 6. 2971 –––––– 3125

III. Add the following. [3 x 1 = 3]

1. 27 and 35 ––––––––––––––––––––

2. 29 and 54 ––––––––––––––––––––

3. 49 and 22 ––––––––––––––––––––

IV. Write these numbers in standard form. [5 x 1 = 5]

1. 5 hundreds 2 ones =  ––––––––––––––––––––

2. Seven hundred eighty five =  ––––––––––––––––––––
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3. Two hundred six =  ––––––––––––––––––––

4. 600 + 20 + 5 =  ––––––––––––––––––––

5. 4 hundreds 2 tens 2 ones =  ––––––––––––––––––––

V. What do the following roman numerlals stand for ? [5 x 1 = 5]

1. VII ..........................

2. IV ..........................

3. XV ..........................

4. XL ..........................

5. L  ..........................

IV. Without actual division write the quotient and the remainders of the following.

[5 x 2 = 10]

S. No. Quotient Remainder

1. 75 ÷10

2. 160 ÷10

3. 495 ÷10

4. 1394 ÷100

5. 257 ÷100

IV. Find the product of the following. [3 x 1 = 3]

1. 100 × 4 =  –––––––––––––––––––––––

2. 7 × 10 =  –––––––––––––––––––––––

3. 19 × 100 =  –––––––––––––––––––––––
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